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2) Sample regression equation Hjf~  prediction equation

p = bo+  b, x

3) SSE = ii , ef = S,,-  b&,  = S,,.-(3)’
11

m
5) (1 -a)lOO%  C.1.  ‘uu4  /90 de bo * t,.2,  a,2  s m

n xx

6) (1 -a) 100% C.I. 9~0~ j3, 40 b,  + t,.2,  a,2  &
JS”,

7) (1 -a) 100% C.1.  lJ0J mean responseP,/xo  ) da

8) (1 -a) 100% C.I. VDJ individual yo (y/x = x0> do

9 + t,-2, a,2 s J
l+i+(x*)2 ‘I 1

n SXX ’
@wri$  = bo+b,xo

T $~th  Ho ~1s'Jlb'wo~hl5f15~i~lU1du  t-distribution n’8 df = n -2
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,

I&  t-distribution n’i df = n-2 -

SSR 4F-test : I$fc  = B = -
S2

'91561  Ho 0~U.hkhi1~~whl%i  F j~dnl~
i

fUZ9lUth  F-distribution n’s  df. = (1, n -2),  hi

MSR = SSR = b&

xl  uotiihni  i x11 x12  .  .  . Xii .  .  .  Xln
'-

Yl Yll  Yl2  . . .  yli  .L.  Yltll

l

x2 lloJii"l~ni 2 x21  x22  .  .  . X2i ..f X2n2

Yz Y21 Y22  ,I,  Yli  .I-  Y29

Model I : yli = /#+fi”x~i+Eli,  i = 1, . . . . nl

Model 2: yzi  = /3&2’+fi2’~2i+Ezir  i = 1, . . . . n2

SSE (I) LIR:: SSE (2) linu  error sum of squares olfl model 1 LLP:: 2 RllJ

Sfi) = ic , (x,~-Z,)~  = iT , Xfi-(  il , mJih



s;:’  = ;r,  (X2i-i#  = it lx:i- “2( )‘h1 X2i
i=l

pooled estimate VBJ a2 &I ? = s&,ed  = S~~~h:~SE(2)

4. CR : ITI  > to,+,,-4,a,2

5. tc = ;.l;

6. n+.h-~

(1 -a) 100% ConfidenceintervalVCIJ  fi’)-~\”  ;O

(b\“-  b\“) -c  t nl + nl-  4. a/2

ST  204 (H)
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3. fimum (X

4. CR : F > f(k-2, ,,-k),  a

5.  fc = ;kW&J,  = [SSE-SSW.Mk  -2)
. . SS(p.e.)/(n  - k)

lR”ni SS(pIe.)  = :: z Y$ -

[

( ,t  , Yij)’

i=lj=l
- ’ n,

5  I
I

6. qllna

4.1 R?J~lwmsn~nalmuu~~iu  p = 0

1. Ho:p  = 0

2. HI : p # 0

3. filHUA a

4. CR : I-I-1  > t,s2, cr,2

Exy -.Ex Ey/n
=

d [Exf-(Ex)21  IZYf-  (EY:y,*l
- i i - i i

1. Ho:p  = p,,,

2. HI  : p + po

3. fhlURa

ST 204 (El)
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4 .  CR :I  Z I> +t

5. fll~YlFlt7DlJfWhtiPU~~  Correlation coefficient 2 65

I. Ho:p,  = pz

2.  HI : PI 3 pr

7. RlWUA a

4 .  CR :I  Z /> 20/Z

5. 7‘ = ZI-22.  -l”“s;i  ZI =+n (2).vcrn:+af

72  =+n (‘y*),

8 6

6.  n5,dwa

S T  2 0 4  (H)



.

6. Serial correlation

Xl,  . . ..X"  mh8~~flmuo~~36~d5  x hanln y+lridfJliOJnir

fl) iffl4  Scatter diagram WOJ~FI  (n - 1)  ~&I  (XI, XZ),  . . . . (Xi-19 Xi), . . . . (~"-1,  x,,)

U) 6lU'JtUn'l  lag 1 correlation ‘kI?D first-order antocorrelation

Ilt=lZ B = i t,  ~2 - ( i t,  xi  )*/n
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,

x : tfhh@hnl~ (If?) .9 1.22.3 3.1 3.3 3.9 4.3 6.2 9.6 12.6 16.1 25.8

y : na1lJq4 (rjvt) 1 8 26 32 36 44.5 35.6 40.5 57.5 67.3 84 67 87.5

tl) W&4  Scatter diagram &$n?~l#Str&ght  line made1 %lb?J

%I)  thblUR~;lH’  x’ =  log,x  Ml:  y‘ =  log,y ~di~katta  diagram WN

(x’,  Y’)

-.05X’ .08 .36 .49 .52 .59 .63 .79 .98 1.10 1.21 1.41

Y’ 1.26 1.41 1.51 1.56 1.65 1.55 1.61 1.76 1.83 1.92 1.83 1.94 .

n) rln model YI = /30+/31xC+  Ei WWI Sample regreskon  equation

c

n) Plot (Xi, Yi),  i - 1, . . . . 12

YY.. **
100100

ww ....
WIWI

7070 .. ....
6060 ..
so _so _

..
��4 0 .4 0 . ll

0.0.

3 03 0 ll

..

m.m.

�0  a�0  a

0�0�

55 I OI O ISIS 2 02 0 2s2s xx
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U)  Plot (xi: yi), i = 1, . . . . 12

90

n) Model : y,‘=  b+P,x,‘+E,

Xx; =  8 .11 Ey,’  = 19.83

LEXx;2 = 7.6407 Ey:2 = 33.2519

';i, = .6758 -,
Y = 1.6525

Z xi'yi' = 14.4561

sX'X' = 2.1597

S
Y’Y’ = .4828

S X'Y,' = 1.0543

s
b, = p^,  = -$Y' = .4882

X'X'

b. = ii = ?' -2, 2' = 1.6525-(.4882)(.6758)  = 1.3226

Saml;le  regression equation
/\
yr = bo+b,  x’

A,
Y = 1.3226+.4882x'

ST  204 (H)



1

x:flr1~UUnfii~nln614~U~lU 4 6 8 6.5 3.5 8 7 5

y:flr11uuolllJityq1ni 2.1 3.1 3.4 2.9 2.1 3.3 2.8 2.3

ZXi = 46 Eyi = 22

Y?l xf = 308.5 Z yf = 62.42

x=6 y = 2.15

xx, y, = 137.9

s xx = z (x,--k)2 = 20.5

Syy = r (Yi-YJ2 = 1.92

SXY = E(Xi-?)(yi-7)  = 5.9

nlJIpiilflmJXllwir%%Q~  x 11% Y ar&4&l,,,  = /x-J+B,x

n) SNIll  Least squared estimate VW p. LLRZ  p,

U) IlJl&JU  Prediction equation

fl) WHl Point estimate lJB4 ,uuy,7,5 ua~oiuiunaiunuiu  mdiuiu  n. IA

ntxwuirGiu~iu 5.5 nm4u ad53~1fd1u1c1  n. o=,iuuoun’?un=,~uula~~,~,~~

J)  UJnatlou  HO : /3, = 0 h~~~F-test  6inum  a = .Ol

0) QWl 1CIIr2%  IltlSlilJltJfI?llJlllJlfJ
I

ST 204 (H) 91

-- ----



$0 = bo = y-b,? =’  2.75 -(.2878)  (6) = 1.0232

u)  $ = 1.0232 + .287X  x
1.

n) ,u”,‘,’ = 1.0232+  ,287s  (7.5) = 3.1817
Y

CR : F > f(,, 6).  ,I,  = 17.75

n = 8, SST = S,,  = 1.92

SSR = b,  S,, =  (.2878)(5.9)  = 1 . 6 9 8 0

SSE = 1.92 - 1.6980 = ,222

S.V. df.

Regrestion 1

Error 6

Total 7

ANOVA

s s M S f

1.698 1.698 f, = 45.8919

.222 ,037

r.920

f, = E = + =  4 5 . 8 9 1 9

S T  2 0 4  (H)



0) 100 r% = -x100 SSR 1 698=
SST

~~100  = 88.44%
1.92

a) 2
*

= MSE = .037

0) O'lWl  95% C.I. UDJ /‘y/6  7; (7.631, 8.369) OJOihftm~m~1r~

n=5

Z Xi = 30 Zyi = 40

xxxf = 200 1 yt = 354

j;  = 6 7=8

ZX~ yi  = 266

s, = 20

s,,  = 34

S “Y = 26

ST 204 (H) 93



n) b,  = f$ = 1.3

bo = 8-(1.3)  (6) = .2

Prediction equation : 9 = .2+ 1.3 x

91)  bo = “ornsn”,~orlld,“n’,F~~~,~~”
” Y

b,  = (lom%lo  (~UIVI)  ~o~rriu~‘wt~o~,“d,“~u”,~~~~~,~~u~u

1fhJ1w

")$,  = .2+  1.3 (4) = 5.4 huin

J)  Ho: p, =  0

H,:~I  # 0

a = .os

CR : F > ft,, 3). .os = 10.13

n = S

SST = syy  = 34

SSR = b,  S,, = 1.3 (26) = 33.8

SSE = 34-33.8  =  .2

ANOVA
t

S.V. df. ss M S f

Regression 1 33.8 33.8 f, = 506.1466

Error 3 .2 .0667

Total 4 3 4

f =MSR= 33.8
c

M S E
- = 506.1466
.0667

9 4 ST 204  (I-l)



X 1 1 1 2 3 3 4 5 5

Y 9 7 8 10 1 5 1 2 19 24 2 1

fl) WWh  Scatter diagram

U) V&U Prediction equation vf14 model : *lx = Bo+B,  x

fl) om%mJ  Lack of fit 4 a = .05

n=9

Z Xi  = 25 Zyyi  =  i 2 5

zxf  = 91 LyyT = 2041

z = 2.1778 7 = 13.8889

Z Xi yi  = 426 <
Su = 21.5556

s,  = 304.8889

S xy  = 78.1718

n) Plot (Xi,  Yi). i = 1, . . . . 9

S T  2 0 4  03) 9 5

----.



v)b, =+ = 2.8589
XY

bo  = 13.8889-(2.8589)  (2.7778) = 5.9474

Prediction equation : $ = 5.9474 + 2.8589 x

n)xI
2

r3

4

5

y,‘s

9, 7, 8

10

15, 12

19

24, 21

Yi

8

10

13.5

19

22.5

ni

3

1

2

1

2

n=9

df SSi

2 2

0 0

1 4.5

0 0

1 4.5

4 1 1 = SS (p.e.)1 n=9  1 4 1 11 = SS(p.e.)

SST =  S,, =  3 0 4 . 8 8 8 9

S S R  =  bl  S,, = (2.8589) (78.7778) = 225.2179

SSE = 304.8889-225.2179 = 79.6710

S S  (p.e.)  =  II

S S  (lof)  =  76.6710-11  =  6 8 . 6 7 1 0. .

S.V.

Regression

Error

Lack of fit

Pure error

T o t a l

ANOVA

df s s M S f

1 225.2179 225.2179 f: = 19.7879

7 79.kno 11.3816

3 68.6710 22.8903 fz = 8.3238

4 1 1 2.15

8 * 304.8889

96 ST 2 0 4  (H)



Ho : There is no lack of fit

HI : There is a lack of fit

a = .05

CR : F > fo. 4). .os =. 6.59

f, = fz  = 8.3238

M%llUlM~  t?hWloll~ a = .Ol. CR : F > fcl. 4j, .ol = 16.69

t51b.h~l5d~l~f1  Ho $ a = .Ol

i x (“d

0 8, 6, 8

1 5 12, 10, 14

30 25, 21, 24

45 31, 33, 28

60 44, 39, 42

75 48, 51, 44

* y (ns”u)

n) W&J  Scatter diagram

U) W&U Prediction equation VOJ  model : k/X = Po+~I  x

fl)  oaJs=u,arJ~lnarueJnl9rnrjn’o=a=n7ulul,  100 nAJ  i%pJnfJri  50°C
; .

J) OJnRnOun  a = .Ol, Ho : j90 = 6, HI : p.  # 6
I

ST 204 (HI 9 7
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fl) Plot (x,,  ~3.  i = 1.

Y
”

50

40

30

20

18

n = 18

I: Xi = 675 Zil  yi  = 488

Xx: = 37125 E y: = 17142

x = 37.5 5 = 27.1111

Z xi y,  = 25005

s, = 11812.5

s,, = 3911.7778

S XY = 6705

u)b, += .5676
xx

bo = y-  b!X = 27.1111 -(.5676)  (37.5) = 5.8261

. ‘; = 5,8261+.5676x

n) x = 50°C
A
y = 5.8261 + .5676  (50) = 34.2061

w’wdDnl~il~s‘ulcu~l~~~~~lu?w  3 4 . 2 0 6 1  ns”u  o:i%a,“hh  1 0 0  ns’u i?

qfunf$  50°C

9 8 S T  2 0 4  (H)



4) SST = syy = 3911.7778, df = 17

SSR = bl  sxy  = .5676'(6/on  = 3805.758,

SSE = 3911.7778- 3805.758 = 106.0198 ,

df = 1

df = 1 6

.-. MSE  = + 106.0198
1 6

= 6.6262 = s2

s = 2.5741

Ho : p,,  = 6

H, :Bo # 6

a =  .Ol

CR : 1 -f  1 > t ,6  .oI,  = 1.746

tc  = bo-6 = 5.8261-  6 - .1739
s JZ  xt/n Su 2.5741 fx = 1y6o17

= -.1617

..-  tc mo$mnCR. lrlbhJl5n~Ijina  Ho d a = .Ol &.&  alslnai

hw?u6ns'um~,sna=nl"fu;;,  100 n~IJikpIn~~O°C

0) Ho : There is no lack of lit

HI : There is a lack of fit

a = .Ol

CR : F > fts,  12).  .o, = 5.41

XX Y’SY’S ZYZY XY2.XY2. SSiSSi llilli dfdf

00 8, 6.88, 6.8 2222 164164 2.66672.6667 33 22

1515 12, JO, 1412, JO, 14 3636 440440 88 33 22

3 03 0 25.21,2425.21,24 7 07 0 16421642 8.66678.6667 33 22

4545 31.33,2831.33,28 9 29 2 28342834 12.666712.6667 33 22

6060 44.39.4244.39.42 12s12s 52215221 12.666712.6667 33 22

7575 48, 51, 4448, 51, 44 143143 68416841 24.666724.6667 33 22

53545354 488488 1714217142 69.333369.3333 1818 1212

ST  204 (HI 99
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SS (p.e.)  = 69.3333

ss (loll = SSE -SS (p.e.)  = 106.01%  -69.3333 = 36.6865

ANOVA

S.V. df

Regression 1

Error 1 6

Lack of fit 4

Pure error 1 2

Total 1 7

ss M S f

3805.758 3805.758 f, = 574.35

106.0198 6.6262

36.6865 9.1716 fz = 1.5874

69.3333 5.1778.

3911.7778

x I 2.1 2.6 2.7 2.7 2.7 3.0 3.0 3.0 3.1 3.1 3.2 3.3 3.6 3.8

Y
I

2.6 2.8 2.9 3.6 3.6 3.1 3.4 3.1 3.9 3.1 4.1 3.6 4.0 3.6

z x, = 41.9 z: y, = 41.4

Xx; = 127.79 I: yi = 163.26

YE  x, y, = 143.59

n? = 160.4829

s,. = z (x,  -2y = 2.3893

S YY = z (Ya -Y,’ = 2.7771

S XY = Z (x,  -:) (y,  -7)  = 1.7286

1 0 0 ST 204 (H)



X

2.1

2.6

2.1

3.0

3.1

3.2

3.3

3.6

3.8

7-

Simple regression model : fly/x =  /30+/31x  ?-&IY =  ,c?o+Plx+E

n’lnun $0 =  bo =.  1 . 2 2 0 3  ttB::

i), = bl = 0.1235
.

f~) WI&IU  Redichon  equation I&J  Fitted regression equation

U)  0~d+hBn51~  ANOVA  th’l61~~Wi  a = .OS

1.  Ho : PI  = 0

2. HO : ?u’i  lack of fit, ~Sdtlds"ud5~  model ~~lh;B!~

?I) dlU?fU  lOOr*%

n); = bo+b,x  =  1 .2203+.7235x

V) SST = S,, = 2.7771

SSR = b, S,, = . 7235 (1.7286) = 1.2506

SSE = 2.7771-  1.2506 = 1.5265

Y’S

2.6

2.8

2.9, 3.6, 3.6

3.1, 3.4, 3.1

3.9, 3.1

4.1

3.6

4.0

3.6

53u

ST 204  (H)

SSi df

0 0

0 0

.3267 2

.06 2

.32 1

0 0

0 0

0 0

b 0

z y = 10.1 , r.  yz  = 34.33

Z y = 9.6 , Z y2  = 30.78

zy = 7, Z y*  =  24 .82

5

1 0 1



S.V. df

Regression 1

Error 1 2

Lack of fit 7

Pure error 5

Total 1 3

ANOVA
f

ss M S f

1.2506 1.2506 f, = 9.8318

1.5265 .1272

.8198 .1;71 fz = .8287

.7067 .1413

2.7771

1. Ho : p, = 0

H,  :/?I  f 0

a = .05

CR : F > f,,,  12). ,,)  = 4.75

f, = f, = 9 .8318 &I”,,% CR.rsll)&fB Ho  n;  a  = .05  u’w&bX  1151;  Y

~n?lu~~w’u%nir~u~~~~~ll~~w~

2. Ho : There is no lack of fit

HI : There is a lack of fit

a = .05

CR : F > FIT,  s),  .x = 4.88

fl. 1 0 0  $90 = S S R-xx00  = *
SST x 100  = 36.01%

1 0 2 ST 204 03)



t x Y 99.4 78 100.1 83 98.6 70 97.9 76 101.4 75 102.6 89 99.0 80 98.6 77 101.1 86 98.0 79 100.5 84 99.3 87

Xxi = 1 1 9 6 . 5 Z yi = 964.0

E x: = 119324.37 Z yf  =  77786
.

Z Xi  yi  = 96170 .2

n) n’lU2tUfil  r (Sample correlation coefficient)

~)WM1&2=.05,  Ho:p=o,  H,:p#O

n) mWlDUM”  a = .05,  Ho : ;p = .7, H,  : p #  .7

J) UJH-I  9 5 %  C.I. WDQ  p

n = 12*

S ill = 23.3492

S yy  =  344 .6667

Sv = 51.3667

1” 51.3667
‘) ’ = & = J23.3492 (344.6667)

= .5726

%a  Ho : p = 0

H,:p#  1

a  =  .05

CR : 1 T 1 > tl,  ,02~  = 2.228

tc =
rdn-2

VJiT-

ST 204 (H) 1 0 3



.j726  ~10

\ 1 - (.5726)’

= 2 .2086

2, = Z 5-j  = .6520

Z
] alnn1513  A 1 0

= z,
PO

= .8673

= c.652 .8673)  ~9 = .6459

= ,652 _’  1.96+

= .652 zi .6533

= (- .0013,  1.3053)

:. 95% C.I.  9104 p ia (tanh (- .0013),  tanh (1.3053) )

= (- .0013,  .8630)

x I 102 95 115 112 86 102 121 108

Y 14.7 12.0 17.1 15.8 10.1 11.6 19.8 17.5

1 0 4 S T  2 0 4  (H)



n) rflwaal&  r

U)  WHlDU  Ho : p = 0, HI  : p # 0 d a = .05

(7)  Will  95% C.I. WJJ  p

, n=8

ZX~ = 841 ZYi = 1186

Z xf = 89303 Eyf  = 1837

Z Xi yi  =, 12713.1

S xx = 892.875

S yy  = 78.755

S v = 245.275

n) r = $i+ = ,925
xx  YY

u) Ho : p = 0

HI :p # 0

a = .05

CR : 1 T ) > to =,025 2.447

r&T-te = .925 6
- = 31 - (.925)’

= 5.9631

n) 95% C.I. WI4  zp 40 z, T.z.025

UlflWl5lJ  A10 : L,  = z.925  = 1.6226

. .’ 95% C.I. UOJ  zy  = 1.6226 f 1.96

= 1.6226 f .8765

= (0.7461, 2.4991)

.. . 95% C.I. ‘UBJ  P ?%I (tanh  (.7461), tanh  (2.4991) )

= (.6328,  .9866)

ST 204 (H) 1 0 5



s : nmAmiiwflln~sc 7 0 9 2 8 0 7 4 6 5 8 3

y : r7cuuuniuicYa3qu 7 4 8 4 6 3 8 7 7 8 9 0

n) ~~Rlu~fuun’~  r

U)  n~tv.WHo:p=O,  H,:peO&=  .I0

n) rdo  u) o’l~slbh~lsod~~nm  Ho  I~iu~:tT!1lwnnl5Y1~~Ou00’lQY5

n = 6

T?I  x, = 464 X y, = 476

1 xf = 36354 Z yf = 38254

t x,y, = 36926

s IX = 471.3333

s), = 491.3333

S n = 115.3333

n ) r  =
S
L = .2397,

v sxx s,,

U)  Ho: p =  0

H, :p # 0

a = .I0

CR : 1 T ( > t4 ok  = 2.132

0:  = .4938tc =
\i  1 - (.2397)’

1 0 6 ST 204  (H)



x:R?llJRQ (IL) .65 67 66 65.5 65 66.5 66 67 66

y : lkd" (bud) 114 120 116 118 115 124 124 115 116

x:flmlJnJ 69 67 65.5 68 67Y 68 69 68

Y : ild" 135 125 110 121 118 120 125 119

n) %IXT~IJ  Scatter dirgram

u) fhuxlJfilr  LLBZBihJlUfl?lUmlU

n) nwW~ija’=  .lO, H,,:p =  0

n .
Y

\(
.

Plot (x,, YJ.  1 130

= I, . . . . . . 17

125 . l

. .

.

I20 . .
.

' . .

1 1 5
0

. .
I

n = 17

E Xi = 1135.5 xy, = fO35

1 x; = 75870.75 Ey: = 244135.0

1 xi y, = 13600.7

S I I = 26.0294

s,, = 533.5294

S1, = 80.9706

ST 204 (HI )r 66 67 68 69
1 0 7



H,:p #  0

a  =  .lO

CR: 1 T 1 > I,~ o5  = 1.753

tc =
.6871 v’r-  = 3.6626

v I - (.6871)*

X21 I .20 .25 .30 .40 .40 .50

YZi 23 24 42 49 55 70

nl  = 7

S!:’  = .0921

S:;’  = 1301.4286

S!:! =  10 .1857

II =  ,930.  a :  =I = -I
nl-3 4

imwlsl~  AI0  :  zI = G, =  2~)

= 1.6584

ny-s  = 6

S ‘:,’  = .0621

S:;’ = 1666.8333

s$’ = 9.9417

rz = ,977, OS = 1 = 1.
nz  - 3 3

z2 = zr2 = ZYX  =  2 .2269

1 0 8 S T  2 0 4  (H)



Ho : /A  = pz

HI : PI f pz

a = .05

CR : 1 Z 1 3 2.025 = ‘I  .96

= 1.6584-2.2269

Yg-

ST 204 (HI

_-.-..-----. .---_--



. 1 "
5.12 o~"",s~*n?ludva~tdv~n'drl""nu'~~uua,~~~taJfi"ul~~~l?n~~u"  65, 64, 63, 61

60, 58, 63, 64, 62, 64, 63, 63, 62, 60, 62, 64, 66, 68, 68, 69 omhmhm~~~w?o

milQltIli  lag 1 independence H~a?~~Buu
0) &1’79  Scatter diagram

91)  n"lU?dl  rl (first serial correlation coefficient)

+I) WMQI!  HO : PI = 0, HI : pl # 0 $ a = .05

fhun i&xf = 80667, i2Xi.t Xi = 76140 LITHE 5 Xi = 1269,
i=l

s4  D

16Tll

fl) ?@l  19 ~@l~%¶h~N Scatter diagram da (65, 64),  (64, 63),  (63, 61),  (61, 60),

6% 581,  (58,  631,  (63, 6% (6‘6  62),  (62,  6% 6% 631,  (63, 631, (63, 621,  (62, 6% (60,  62),

(62, 641, (64, 66), (66, 681, (68, 681, (68, 69)

x, 70'

1 1 0 ST 204 (Ii)



*> n = 20,  i i 1 Xf  = 80667, i E, Xi = 1269, jI  = 63.45

n “Cl

z2Xi  = 1204,  Y&Xi = 1200,  Zk2Xi.,  Xi = 7 6 1 4 0

i~,+(i~IXi)2/n  = 80667 - (1269j*/20

= 80667 - 80518.05

= 148.95

, j2Xi-lXi-k  [:;I Xi+i  g2Xi]+(Il-1)x*
1=1

= 76140-(63.45)  [ 1200+1204]+(20-1)  (63.45)’

= 98.3475

. . r, =  98.34751148.95  =  .6603

n) 1 ) H o : PI = 0

2) HI : PI # 0

3 )  a  =  .05

4)CR:Z>z,o25=1.96M1~Z<-1.96

S T  2 0 4  (H) 1 1 1

__-.-  -----



f-hu~) ; xf = 163.61, g Xi-1 Xi  = 148.48, llil~  If.  xi = 55.3
i 1  i=2 *= 1

fl) !@I  20 ~'Mflt4hls"7~  Scatter diagram &J  (2.0, 2.8), (2.8, 2.0), (2.0, 1.9)

(1.9, 1.1),  (1.1, 1.4), (1.4, 1.2), (1.2, 2.4), (2.4, 2.5), (2.5, 2.3), (2.3, 3.1), (3.1, 5.2),

(5.2, 2.8), (2.8, 2.7), (2.7, 2.6), (2.6, 2.4), (2.4, 3.3), (3.3, 3.9), (3.9, 3.0), (3.0, 3.8),

(3.8, 2.9)

Xi
5

4, ’:

3. :
:

. .

2 ’.

1

’0 ; 2 3 4 5 X,-I

S T  2 0 4  (H)



*)n=2Li=,  ,E X?  = 163.61, i E 1 Xi = .55.3,X=  2.6333

i z”,  Xi = 53,3,  yi’,  Xi = 52.4, i E 2 Xi-1 Xi = 148.48

i i, Xf - ( i t , Xi )2/n  = 163.61-  (55.3)‘/21

= 163.61-  145.6233

= 11.9861

k Xi-l Xi-X  [ ni: Xi+i  ~2Xi]+(Il-1)Y?
i=2

= 148.48 - (2.6333) [ 52.4+ 53.3 ] + (21-  1) (2.6333)’

= 8.8262

=. . rl 8.8262/17.9867 = .4907

n) 1) Ho : /II  = 0

2) HI : pl f 0

3) a = .05

4) CR: Z > 1.96 II%?::  Z c-1.96

5) zE = 6 rl = x61 (.4907)  = 2.2487

6) .: ze > 1.96 ~sld&na Ho 4 CY = .05 ~~dou”or?n~n~ljfl?lIlrXuw’u~n”u

‘lu~a’?uYo~nloJ

.

S T  2 0 4  (H)

1


